

DIGITALES ARCHIV

ZBW – Leibniz-Informationszentrum Wirtschaft
ZBW – Leibniz Information Centre for Economics

Ioan, Catalin Angelo

Article

On certain conditions for generating production functions

Provided in Cooperation with:
Danubius University of Galati

Reference: Ioan, Catalin Angelo (2017). On certain conditions for generating production functions.

This Version is available at:
<http://hdl.handle.net/11159/1428>

Kontakt/Contact

ZBW – Leibniz-Informationszentrum Wirtschaft/Leibniz Information Centre for Economics
Düsternbrooker Weg 120
24105 Kiel (Germany)
E-Mail: [rights\[at\]zbw.eu](mailto:rights[at]zbw.eu)
<https://www.zbw.eu/econis-archiv/>

Standard-Nutzungsbedingungen:

Dieses Dokument darf zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden. Sie dürfen dieses Dokument nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, aufführen, vertreiben oder anderweitig nutzen. Sofern für das Dokument eine Open-Content-Lizenz verwendet wurde, so gelten abweichend von diesen Nutzungsbedingungen die in der Lizenz gewährten Nutzungsrechte.

<https://zbw.eu/econis-archiv/termsfuse>

Terms of use:

This document may be saved and copied for your personal and scholarly purposes. You are not to copy it for public or commercial purposes, to exhibit the document in public, to perform, distribute or otherwise use the document in public. If the document is made available under a Creative Commons Licence you may exercise further usage rights as specified in the licence.

On Certain Conditions for Generating Production Functions - II

Catalin Angelo Ioan¹, Gina Ioan²

Abstract: The article is the second in a series that will treat underlying conditions to generate a production function. The importance of production functions is fundamental to analyze and forecast the various indicators that highlights different aspects of the production process. How often forgets that these functions start from some premises, the article comes just meeting these challenges, analyzing different initial conditions. On the other hand, where possible, we have shown the concrete way of determining the parameters of the function.

Keywords: production function; productivity; marginal rate of substitution of elasticity

JEL Classification: D43

1. Introduction

We define on \mathbf{R}^n the production space for n fixed resources as:

$$SP = \{ (x_1, \dots, x_n) \mid x_i \geq 0, i = \overline{1, n} \}$$

where $x \in SP$, $x = (x_1, \dots, x_n)$ is an ordered set of inputs and a restriction of the production space to a subset $D_p \subset SP$ called production domain.

It is now called production function (output) an application:

$$Q: D_p \rightarrow \mathbf{R}_+, (x_1, \dots, x_n) \rightarrow Q(x_1, \dots, x_n) \in \mathbf{R}_+ \quad \forall (x_1, \dots, x_n) \in D_p$$

which satisfies the following axioms:

1. The production domain D_p is convex i.e. $\forall x = (x_1, \dots, x_n), y = (y_1, \dots, y_n) \in D_p \quad \forall \lambda \in [0, 1]$ follows $(1-\lambda)x + \lambda y = ((1-\lambda)x_1 + \lambda y_1, \dots, (1-\lambda)x_n + \lambda y_n) \in D_p$
2. $Q(0, 0, \dots, 0) = 0$
3. The production function is continuous
4. The production function is of class $C^2(D_p)$ i.e. admits 2nd order continuous partial derivatives
5. The production function is monotonically increasing in each variable
6. The production function is quasi-concave that is $Q(\lambda x + (1-\lambda)y) \geq \min(Q(x), Q(y)) \quad \forall \lambda \in [0, 1] \quad \forall x, y \in R_p$

At the end of this introduction, let note that a function is called homogeneous if $\exists r \in \mathbf{R}$ such that: $Q(\lambda x_1, \dots, \lambda x_n) = \lambda^r Q(x_1, \dots, x_n) \quad \forall \lambda \in \mathbf{R}^*$. r is called the degree of homogeneity of the function. We will say that a production function $Q: D_p \rightarrow \mathbf{R}_+$ is with constant return to scale if $Q(\lambda x_1, \dots, \lambda x_n) = \lambda Q(x_1, \dots, x_n)$, with increasing return to scale if $Q(\lambda x_1, \dots, \lambda x_n) > \lambda Q(x_1, \dots, x_n)$ and with decreasing return to scale if $Q(\lambda x_1, \dots, \lambda x_n) < \lambda Q(x_1, \dots, x_n) \quad \forall \lambda \in (1, \infty) \quad \forall (x_1, \dots, x_n) \in D_p$.

¹ Associate Professor, PhD, Danubius University, Romania, Corresponding author: catalin_angelo_ioan@univ-danubius.ro.

² Senior Lecturer, PhD, Danubius University, Romania, E-mail: ginaioan@univ-danubius.ro.

In what follows we will consider only functions of two variables: K – capital and L – labor: $Q=Q(K,L)$ and we will note $\chi = \frac{K}{L}$.

We will call the marginal productivity relative to the capital K: $\eta_K = \frac{\partial Q}{\partial K}$ and with respect to the labor: $\eta_L = \frac{\partial Q}{\partial L}$.

Also, we define $w_K = \frac{Q}{K}$ - called the productivity of capital, and $w_L = \frac{Q}{L}$ - the productivity of labor being the average productivity relative to the production factor K, respectively L.

From [5], we have that in the general case of the variation of all inputs, for K_0 units of input K and L_0 units of input L, and $Q(KL)=0$:

$$Q(K_0, L_0) = K_0 \int_0^1 \eta_K(K_0 t, L_0 t) dt + L_0 \int_0^1 \eta_L(K_0 t, L_0 t) dt$$

We will call also the marginal rate of technical substitution of the factors K and L the opposite change in the amount of factor L to substitute a variation of the quantity of factor K in the situation of conservation production level and note: $RMS(K,L) = - \frac{dx_L}{dx_K} = \frac{\eta_K}{\eta_L}$ in an arbitrary point $\bar{x} = (\bar{K}, \bar{L})$ and

analogously: $RMS(L,K) = - \frac{dx_K}{dx_L} = \frac{\eta_L}{\eta_K} = \frac{1}{RMS(K,L)}$.

It is called elasticity of production in relation to K: $\varepsilon_K = \frac{\partial Q}{\partial K} \frac{K}{Q} = \frac{\eta_K}{w_K}$ - the relative variation of

production at the relative variation of K and also the elasticity of production in relation to L:

$$\varepsilon_L = \frac{\partial Q}{\partial L} \frac{L}{Q} = \frac{\eta_L}{w_L}$$

- the relative variation of production at the relative variation of L.

If the production function is homogenous of degree r, after Euler's relation:

$$K \frac{\partial Q}{\partial K} + L \frac{\partial Q}{\partial L} = rQ$$

we obtain that $\varepsilon_K + \varepsilon_L = r$.

We finally define the marginal rate of substitution elasticity: $\sigma = \frac{\frac{\partial RMS(K,L)}{\partial \chi}}{RMS(K,L)}$.

Let suppose now that the function is homogenous of degree r.

Because $Q(K,L) = Q(\chi L, L) = L^r Q(\chi, 1)$ we will note $q(\chi) = Q(\chi, 1)$ and we have: $Q(K,L) = L^r q(\chi)$. We have therefore:

- $\eta_K = \frac{\partial Q}{\partial K} = L^r q'(\chi) \frac{\partial \chi}{\partial K} = L^{r-1} q'(\chi)$
- $\eta_L = \frac{\partial Q}{\partial L} = L^{r-1} q(\chi) + L^r q'(\chi) \frac{\partial \chi}{\partial L} = L^{r-1} (q(\chi) - \chi q'(\chi))$
- $w_K = \frac{Q}{K} = \frac{L^{r-1} q(\chi)}{\chi}$
- $w_L = \frac{Q}{L} = L^{r-1} q(\chi)$
- $RMS(K,L) = \frac{1}{RMS(L,K)} = \frac{\eta_K}{\eta_L} = \frac{q'(\chi)}{q(\chi) - \chi q'(\chi)}$
- $\sigma = \frac{\frac{\partial RMS(K,L)}{\partial \chi}}{RMS(K,L)} = \frac{\chi q(\chi) q''(\chi)}{q'(\chi)(q(\chi) - \chi q'(\chi))} \cdot \chi$

2. Conditions of Marginal Rate of Substitution Elasticity

Let suppose in what follows that: $\sigma = f(\chi)$, Q being homogenous of degree r .

We have the following differential equation: $\frac{\chi q(\chi) q''(\chi)}{q'(\chi)(q(\chi) - \chi q'(\chi))} = f(\chi)$ that is:

$$q''(\chi) = \frac{f(\chi)}{\chi} q'(\chi) - f(\chi) \frac{q'(\chi)^2}{q(\chi)} \quad \text{or} \quad \frac{q''(\chi)}{q(\chi)} = \frac{f(\chi)}{\chi} \frac{q'(\chi)}{q(\chi)} - f(\chi) \left(\frac{q'(\chi)}{q(\chi)} \right)^2$$

$$\text{Let } y(\chi) = \frac{q'(\chi)}{q(\chi)}. \text{ We have: } y'(\chi) = \frac{q''(\chi)q(\chi) - q'(\chi)^2}{q(\chi)^2} = \frac{q''(\chi)}{q(\chi)} - \left(\frac{q'(\chi)}{q(\chi)} \right)^2 = \frac{q''(\chi)}{q(\chi)} - y(\chi)^2$$

The equation becomes:

$$y'(\chi) = \frac{f(\chi)}{\chi} y(\chi) - (1 + f(\chi)) y(\chi)^2$$

Again, if we note: $x(\chi) = \frac{1}{y(\chi)}$ we obtain by dividing at $y^2(\chi)$:

$$\frac{y'(\chi)}{y(\chi)^2} = \frac{f(\chi)}{\chi} \frac{1}{y(\chi)} - (1 + f(\chi)) \Leftrightarrow x'(\chi) = -\frac{f(\chi)}{\chi} x(\chi) + (1 + f(\chi)) \text{ - a linear equation of first degree.}$$

The solution of homogenous equation $x'(\chi) = -\frac{f(\chi)}{\chi} x(\chi)$ is: $(\ln x(\chi))' = -\frac{f(\chi)}{\chi} \Leftrightarrow$

$$\ln x(\chi) = -\int \frac{f(\chi)}{\chi} d\chi \Leftrightarrow x(\chi) = e^{-\int \frac{f(\chi)}{\chi} d\chi} + C.$$

Returning at the nonhomogenous equation, let $x(\chi) = C(\chi)e^{-\int \frac{f(\chi)}{\chi} d\chi}$. We find that:

$$C'(\chi)e^{-\int \frac{f(\chi)}{\chi} d\chi} - C(\chi)\frac{f(\chi)}{\chi}e^{-\int \frac{f(\chi)}{\chi} d\chi} = -C(\chi)\frac{f(\chi)}{\chi}e^{-\int \frac{f(\chi)}{\chi} d\chi} + (1+f(\chi))$$

therefore $C'(\chi) = (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi}$ and finally:

$$C(\chi) = \int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + C$$

We have now:

$$x(\chi) = e^{-\int \frac{f(\chi)}{\chi} d\chi} \int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + Ce^{-\int \frac{f(\chi)}{\chi} d\chi}$$

$$\text{and therefore: } y(\chi) = \frac{e^{\int \frac{f(\chi)}{\chi} d\chi}}{\int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + C}.$$

Returning to the definition of the function y:

$$(\ln q(\chi))' = \frac{e^{\int \frac{f(\chi)}{\chi} d\chi}}{\int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + C} \Leftrightarrow \ln q(\chi) = \int \frac{e^{\int \frac{f(\chi)}{\chi} d\chi}}{\int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + C} d\chi + D \text{ therefore:}$$

$$q(\chi) = De^{\int \frac{e^{\int \frac{f(\chi)}{\chi} d\chi}}{\int (1+f(\chi))e^{\int \frac{f(\chi)}{\chi} d\chi} d\chi + C} d\chi}$$

Let F be an indefinite integral of $\frac{f(\chi)}{\chi}$ that is: $F(\chi) = \int \frac{f(\chi)}{\chi} d\chi \Leftrightarrow F'(\chi) = \frac{f(\chi)}{\chi}$. We can write:

$$q(\chi) = De^{\int \frac{e^{F(\chi)}}{\int (1+f(\chi))e^{F(\chi)} d\chi + C} d\chi}.$$

But

$$\int (1+f(\chi))e^{F(\chi)} d\chi = \int (1+\chi F'(\chi))e^{F(\chi)} d\chi = \int e^{F(\chi)} d\chi + \int \chi(e^{F(\chi)})' d\chi = \int e^{F(\chi)} d\chi + \chi e^{F(\chi)} - \int e^{F(\chi)} d\chi = \chi e^{F(\chi)} + C.$$

We have finally:

$$q(\chi) = De^{\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi} \text{ where } F(\chi) = \int \frac{f(\chi)}{\chi} d\chi \text{ and, of course: } Q(K,L) = L^f q\left(\frac{K}{L}\right).$$

2.1. $f(\chi)=\alpha=\text{constant}$

$$F(\chi) = \int \frac{\alpha}{\chi} d\chi = \alpha \ln \chi \text{ from where:}$$

If $\alpha \neq -1$:

$$\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi = \int \frac{\chi^\alpha}{\chi^{\alpha+1} + C} d\chi = \frac{\ln(\chi^{\alpha+1} + C)}{\alpha + 1} = \ln(\chi^{\alpha+1} + C)^{\frac{1}{\alpha+1}}$$

$$q(\chi) = D e^{\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi} = D (\chi^{\alpha+1} + C)^{\frac{1}{\alpha+1}}$$

and $Q(K,L) = L^{r-1} D (K^{\alpha+1} + CL^{\alpha+1})^{\frac{1}{\alpha+1}}$

For $r=1$ we obtain the CES production function.

If $\alpha = -1$:

$$\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi = \frac{1}{C+1} \int \frac{1}{\chi} d\chi = \frac{1}{C+1} \ln \chi$$

$$q(\chi) = D e^{\frac{1}{C+1} \ln \chi} = D \chi^{\frac{1}{C+1}}$$

and $Q(K,L) = DK^{\frac{1}{C+1}} L^{\frac{r-1}{C+1}}$ - the Cobb-Douglas production function homogenous of degree r .

2.2. $f(\chi)=\alpha\chi+\beta$

$$F(\chi) = \int \frac{f(\chi)}{\chi} d\chi = \int \frac{\alpha\chi + \beta}{\chi} d\chi = \alpha\chi + \beta \ln \chi \text{ from where:}$$

$$\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi = \int \frac{\chi^\beta e^{\alpha\chi}}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi =$$

$$\frac{1}{\beta+1} \int \frac{(\chi^{\beta+1} e^{\alpha\chi} + C)'}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi - \frac{\alpha}{\beta+1} \int \frac{\chi^{\beta+1} e^{\alpha\chi} + C}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi + \frac{\alpha C}{\beta+1} \int \frac{1}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi =$$

$$\frac{1}{\beta+1} \ln |\chi^{\beta+1} e^{\alpha\chi} + C| - \frac{\alpha\chi}{\beta+1} + \frac{\alpha C}{\beta+1} \int \frac{1}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi = \ln |\chi^{\beta+1} e^{\alpha\chi} + C|^{\frac{1}{\beta+1}} - \frac{\alpha\chi}{\beta+1} + \frac{\alpha C}{\beta+1} G(\chi) \text{ where}$$

$$G(\chi) = \int \frac{1}{\chi^{\beta+1} e^{\alpha\chi} + C} d\chi$$

We have therefore:

$$q(\chi) = D e^{\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi} = \frac{D \left| \chi^{\beta+1} e^{\alpha\chi} + C \right|^{\frac{1}{\beta+1}}}{e^{\frac{\alpha(\chi - CG(\chi))}{\beta+1}}} \text{ and, of course: } Q(K,L) = L^{\beta-1} \frac{D \left| K^{\beta+1} e^{\frac{\alpha K}{L}} + CL^{\beta+1} \right|^{\frac{1}{\beta+1}}}{e^{\frac{\alpha \left(\frac{K}{L} - CG\left(\frac{K}{L}\right) \right)}{\beta+1}}}.$$

In particular for $\beta=1$, we have, after developing in series:

$$G(\chi) = \int \frac{1}{\chi^2 e^{\alpha\chi} + C} d\chi = \int \frac{1}{C} - \frac{1}{C^2} \chi^2 - \frac{\alpha}{C^2} \chi^3 + \dots d\chi = \frac{1}{C} \chi - \frac{1}{3C^2} \chi^3 - \frac{\alpha}{4C^2} \chi^4 + \dots$$

Now:

$$q(\chi) = D e^{\int \frac{e^{F(\chi)}}{\chi e^{F(\chi)} + C} d\chi} = \frac{D \sqrt{\chi^2 e^{\alpha\chi} + C}}{e^{\frac{\alpha}{6C} \chi^3 + \frac{\alpha^2}{8C} \chi^4 + \dots}} \text{ and, of course: } Q(K,L) = L^{\beta-1} \frac{D \sqrt{K^2 e^{\frac{\alpha K}{L}} + CL^2}}{e^{\frac{\alpha}{6C} \frac{K^3}{L^3} + \frac{\alpha^2}{8C} \frac{K^4}{L^4} + \dots}}.$$

3. References

Ioan, C.A. & Ioan, G. (2016). On Certain Conditions for Generating Production Functions – I. *Acta Universitatis Danubius. Œconomica*, Vol. 12, no. 1, pp. 129-150.

Ioan, C.A. & Ioan, G. (2012). On the General Theory of Production Functions. *Acta Universitatis Danubius. Œconomica*, Vol. 8, no. 5.

Ioan, C.A. & Ioan, G. (2011). A generalisation of a class of production functions. *Applied economics letters*, 18, pp. 1777-1784.

Ioan, C.A. & Ioan, G. (2011). The Extreme of a Function Subject to Restraint Conditions. *Acta Universitatis Danubius. Œconomica*, Vol 7, no 3, pp. 203-207.

Ioan, C.A. & Ioan, G. (2012). *Mathæconomics*. Galati: Zigotto Publishers.

Mishra, SK. (2007). A Brief History of Production Functions. *Working Paper Series Social Science Research Network (SSRN)*, <http://ssrn.com/abstract=1020577>.